Efficiency vs Dxy(PV)
SO.OS

%045
3
©0.04
>
2.035
)
£0.03
g
®.025
0.02
0.015]

L LN N LR UL LN L) LR LR LA LR

0.

5 =30-15-10 -5 0 5 10 15 20 25
TP dxy(PV) (cm

— T o, __Global_mKFitoriginal__RECO!
—— DQM_V0001~R000000001__Global_mkFitNew__RECO

—— DQM_V0001_R000000001__Global _mkFitNewHpTt__RECO
— —— DQM_V0001_R000000001__Global_mkFitNewDetq _RECO
[ Efficienc] —— DAOM V0001 _R000000001 _Global _mkFitNewDett _RECO

o
Iy
T[T [T [T [T [T [T T[T [TTT

0.5t

040608 1
TP dxy(PV) (cm)

S 0.5

o
)
ol
L LN L L) AL LRy LAy L LR L

=30 -20 -10 0 10 20 30
TP dz(PV) (cm)

0.5 1
TP dz(PV) (cm)



	Contents
	Page 1


